

A COMMON FIXED POINT THEOREM FOR SIX EXPANSIVE MAPPINGS IN G – METRIC SPACES

¹K. P. R. Rao*, ²A. Sombabu, ³J. Rajendra Prasad

^{1,2}Dept. of Applied Mathematics, A. N. U.- Dr. M. R. Appa Row Campus,
Nuzvid - 521201., A.P., India.

³Dept. of Computer Applications, P. V. P. Siddhartha Institute of Technology,
Kanur, Vijayawada-7, A. P., India.

*Corresponding address: kprrao2004@yahoo.com

Received 14 November, 2010; Revised 22 July, 2011

ABSTRACT:

In this paper we obtain a unique common fixed point theorem for six expansive mappings in G –metric spaces.

AMS 2000 Subject classification : 47 H 10, 54 H 25.

Key words : Expansive mappings, G –metric space, Weakly compatible mappings.

1. INTRODUCTION

Dhage [2, 3, 4, 5]. et al. introduced the concept of D –metric spaces as generalization of ordinary metric functions and went on to present several fixed point results for single and multivalued mappings. Mustafa and Sims [6] and Naidu et al. [10, 11, 12] demonstrated that most of the claims concerning the fundamental topological structure of D – metric space are incorrect, alternatively, Mustafa and Sims introduced in [6] more appropriate notion of generalized metric space which called G – metric spaces, and obtained some topological properties. Later Zead Mustafa, Hamed Obiedat and Fadi Awawdeh[7], Mustafa, Shatanawi and Bataineh [8], Mustafa and Sims [9] Shatanawi [13] and Renu Chugh, Tamanna Kadian, Anju Rani and B.E. Rhoades [1] et al. obtained some fixed point theorems for a single map in G- metric spaces. In this paper, we obtain a unique common fixed point theorem for six weakly compatible expansive mappings in G – metric spaces . First, we present some known definitions and propositions in G – metric spaces .

DEFINITION 1.1 [6] : Let X be a nonempty set and let $G: X \times X \times X \rightarrow \mathbb{R}^+$ be a function satisfying the following properties :

$(G_1) : G(x, y, z) = 0$ if $x = y = z$,

(G₂) : $0 < G(x, x, y)$ for all $x, y \in X$ with $x \neq y$,

(G₃) : $G(x, x, y) \leq G(x, y, z)$ for all $x, y, z \in X$ with $y \neq z$,

(G₄) : $G(x, y, z) = G(x, z, y) = G(y, z, x) = \dots$, symmetry in all three variables,

(G₅) : $G(x, y, z) \leq G(x, a, a) + G(a, y, z)$ for all $x, y, z, a \in X$.

Then the function G is called a generalized metric or a G – metric on X and the pair (X, G) is called a G - metric space.

DEFINITION 1.2 [6] : Let (X, G) be a G - metric space and $\{x_n\}$ be a sequence in X . A point $x \in X$ is said to be limit of $\{x_n\}$ iff $\lim_{n, m \rightarrow \infty} G(x, x_n, x_m) = 0$. In this case , the sequence $\{x_n\}$ is

said to be G – convergent to x .

DEFINITION 1.3 [6] : Let (X, G) be a G - metric space and $\{x_n\}$ be a sequence in X . $\{x_n\}$ is called G - Cauchy iff $\lim_{n, m \rightarrow \infty} G(x_n, x_m, x_m) = 0$. (X, G) is called G –complete if every G –Cauchy

sequence in (X, G) is G -convergent in (X, G) .

PROPOSITION 1.4 [6] : In a G - metric space, (X, G) , the following are equivalent.

- (1) The sequence $\{x_n\}$ is G - Cauchy.
- (2) For every $\varepsilon > 0$, there exists $N \in \mathbf{N}$ such that $G(x_n, x_m, x_m) < \varepsilon$, for all $n, m \geq N$.

PROPOSITION 1.5 [6] : Let (X, G) be a G - metric space. Then the function $G(x, y, z)$ is jointly continuous in all three of its variables.

PROPOSITION 1.6 [6] : Let (X, G) be a G - metric space. Then for any

$x, y, z, a \in X$, it follows that

- (i) if $G(x, y, z) = 0$ then $x = y = z$,
- (ii) $G(x, y, z) \leq G(x, x, y) + G(x, x, z)$,
- (iii) $G(x, y, y) \leq 2G(x, x, y)$,
- (iv) $G(x, y, z) \leq G(x, a, z) + G(a, y, z)$,
- (v) $G(x, y, z) \leq \frac{2}{3} [G(x, a, a) + G(y, a, a) + G(z, a, a)]$.

PROPOSITION 1.7 [6] : Let (X, G) be a G - metric space. Then for a sequence

$\{x_n\} \subseteq X$ and a point $x \in X$, the following are equivalent

- (i) $\{x_n\}$ is G - convergent to x ,

(ii) $G(x_n, x_n, x) \rightarrow 0$ as $n \rightarrow \infty$,

(iii) $G(x_n, x, x) \rightarrow 0$ as $n \rightarrow \infty$,

(iv) $G(x_m, x_n, x) \rightarrow 0$ as $m, n \rightarrow \infty$.

2. RESULTS

THEOREM 2.1: Let (X, G) be a complete G- metric space and $S, T, R, f, g, h : X \rightarrow X$ be mappings such that

$$(2.1.1) \quad G(Sx, Ty, Rz) \geq q \max \left\{ \begin{array}{l} G(fx, gy, hz), G(fx, Sx, Rz), \\ G(gy, Ty, Sx), G(hz, Rz, Ty) \end{array} \right\}$$

for all $x, y, z \in X$ and $q > 1$,

(2.1.2) $h(X) \subseteq S(X), f(X) \subseteq T(X), g(X) \subseteq R(X),$

(2.1.3) one of $f(X), g(X)$ and $h(X)$ is a G- complete subspace of X ,

(2.1.4) the pairs $(f, S), (g, T)$ and (h, R) are weakly compatible.

Then (a) one of the pairs $(f, S), (g, T)$ and (h, R) has a coincidence point in X or

(b) S, T, R, f, g and h have a unique common fixed point in X .

PROOF : Let $x_0 \in X$.

From (2.1.2), there exist $x_1, x_2, x_3 \in X$ such that $hx_0 = Sx_1 = y_1$, say,

$fx_1 = Tx_2 = y_2$, say and $gx_2 = Rx_3 = y_3$, say .

By induction, there exist sequences $\{x_n\}$ and $\{y_n\}$ in X such that

$$hx_{3n} = Sx_{3n+1} = y_{3n+1}, \quad fx_{3n+1} = Tx_{3n+2} = y_{3n+2}, \quad gx_{3n+2} = Rx_{3n+3} = y_{3n+3}, \quad n = 0, 1, 2, \dots$$

If $y_{3n+1} = y_{3n+2}$ then $fx = Sx$, where $x = x_{3n+1}$.

If $y_{3n+2} = y_{3n+3}$ then $gx = Tx$, where $x = x_{3n+2}$.

If $y_{3n} = y_{3n+1}$ then $hx = Rx$, where $x = x_{3n}$.

Assume that $y_n \neq y_{n+1}$ for all n .

Denote $d_n = G(y_n, y_{n+1}, y_{n+2})$.

$$d_{3n-1} = G(y_{3n-1}, y_{3n}, y_{3n+1})$$

$$= G(Tx_{3n-1}, Rx_{3n}, Sx_{3n+1})$$

$$\begin{aligned} &\geq q \max \left\{ G(y_{3n+2}, y_{3n}, y_{3n+1}), G(y_{3n+2}, y_{3n+1}, y_{3n}) \right\} \\ &\quad \left\{ G(y_{3n}, y_{3n-1}, y_{3n+1}), G(y_{3n+1}, y_{3n}, y_{3n-1}) \right\} \\ &= q \max \{ d_{3n}, d_{3n}, d_{3n-1}, d_{3n-1} \} . \end{aligned}$$

Thus we have $d_{3n-1} \geq q d_{3n}$ so that $d_{3n} \leq k d_{3n-1}$, where $k = \frac{1}{q} < 1$.

$$\begin{aligned} d_{3n} &= G(y_{3n}, y_{3n+1}, y_{3n+2}) \\ &= G(Rx_{3n}, Sx_{3n+1}, Tx_{3n+2}) \\ &\geq q \max \left\{ G(y_{3n+2}, y_{3n+3}, y_{3n+1}), G(y_{3n+2}, y_{3n+1}, y_{3n}) \right\} \\ &\quad \left\{ G(y_{3n+3}, y_{3n+2}, y_{3n+1}), G(y_{3n+1}, y_{3n}, y_{3n+2}) \right\} \\ &= q \max \{ d_{3n+1}, d_{3n}, d_{3n+1}, d_{3n} \} . \end{aligned}$$

Thus we have $d_{3n} \geq q d_{3n+1}$ so that $d_{3n+1} \leq k d_{3n}$.

$$\begin{aligned} d_{3n+1} &= G(y_{3n+1}, y_{3n+2}, y_{3n+3}) \\ &= G(Sx_{3n+1}, Tx_{3n+2}, Rx_{3n+3}) \\ &\geq q \max \left\{ G(y_{3n+2}, y_{3n+3}, y_{3n+4}), G(y_{3n+2}, y_{3n+1}, y_{3n+3}) \right\} \\ &\quad \left\{ G(y_{3n+3}, y_{3n+2}, y_{3n+1}), G(y_{3n+4}, y_{3n+3}, y_{3n+2}) \right\} \\ &= q \max \{ d_{3n+2}, d_{3n+1}, d_{3n+1}, d_{3n+2} \} . \end{aligned}$$

Thus we have $d_{3n+1} \geq q d_{3n+2}$ so that $d_{3n+2} \leq k d_{3n+1}$.

$$\begin{aligned} \text{Hence } G(y_n, y_{n+1}, y_{n+2}) &\leq k G(y_{n-1}, y_n, y_{n+1}) \\ &\leq k^2 G(y_{n-2}, y_{n-1}, y_n) \\ &\quad \vdots \\ &\quad \vdots \\ &\leq k^n G(y_0, y_1, y_2). \end{aligned}$$

From (G_3) , we have

$$G(y_n, y_n, y_{n+1}) \leq G(y_n, y_{n+1}, y_{n+2}) \leq k^n G(y_0, y_1, y_2).$$

From (G_5) for $m > n$ we have

$$\begin{aligned} G(y_n, y_n, y_m) &\leq G(y_n, y_n, y_{n+1}) + G(y_{n+1}, y_{n+1}, y_{n+2}) + \dots + G(y_{m-1}, y_{m-1}, y_m) \\ &\leq (k^n + k^{n+1} + \dots + k^{m-1}) G(y_0, y_1, y_2) \end{aligned}$$

$$\leq \frac{k^n}{1-\alpha} G(y_0, y_1, y_2)$$

$$\rightarrow 0 \text{ as } n \rightarrow \infty, m \rightarrow \infty.$$

Hence $\{y_n\}$ is G- Cauchy.

Suppose $f(X)$ is a G-complete subspace of X . Then there exist $p, t \in X$ such that $y_{3n+1} \rightarrow p = f t$.

Since $\{y_n\}$ is G- Cauchy, it follows that $y_{3n} \rightarrow p$ and $y_{3n+2} \rightarrow p$.

$$G(St, y_{3n+2}, y_{3n+3}) = G(St, Tx_{3n+2}, Rx_{3n+3})$$

$$\geq q \max \left\{ \begin{array}{l} G(p, y_{3n+3}, y_{3n+4}), G(p, St, y_{3n+3}) \\ G(y_{3n+3}, y_{3n+2}, St), G(y_{3n+4}, y_{3n+3}, y_{3n+2}) \end{array} \right\}.$$

Letting $n \rightarrow \infty$, we get

$$G(St, p, p) \geq G(p, St, p).$$

Hence $St = p$. Thus $f t = St = p$.

Since (f, S) is a weakly compatible pair, we have $f p = Sp$.

$$G(Sp, y_{3n+2}, y_{3n+3}) = G(Sp, Tx_{3n+2}, Rx_{3n+3})$$

$$\geq q \max \left\{ \begin{array}{l} G(Sp, y_{3n+3}, y_{3n+4}), G(Sp, Sp, y_{3n+3}) \\ G(y_{3n+3}, y_{3n+2}, Sp), G(y_{3n+4}, y_{3n+3}, y_{3n+2}) \end{array} \right\}.$$

Letting $n \rightarrow \infty$, we get

$$G(Sp, p, p) \geq q \max \{ G(Sp, p, p), G(Sp, Sp, p), G(p, p, Sp), 0 \}$$

$$\geq q \max \left\{ G(Sp, p, p), \frac{1}{2} G(Sp, p, p), 0 \right\}, \text{ since } G(p, p, Sp) \leq 2G(Sp, Sp, p)$$

$$= q G(Sp, p, p).$$

Hence $Sp = p$. Thus $f p = Sp = p$(1)

Since $p = Sp \in T(X)$, there exists $v \in X$ such that $p = Tv$.

$$G(Sp, Tv, y_{3n+3}) = G(Sp, Tv, Rx_{3n+3})$$

$$\geq q \max \{ G(p, gv, y_{3n+4}), G(p, p, y_{3n+3}), G(gv, p, p), G(y_{3n+4}, y_{3n+3}, p) \}.$$

Letting $n \rightarrow \infty$ we get, $0 \geq q \max \{ G(p, gv, p), 0, G(gv, p, p), 0 \}$.

Hence $G(p, gv, p) = 0$ so that $gv = p$. Thus $gv = Tv = p$.

Since (g, T) is a weakly compatible pair, we have $g p = Tp$.

$$G(p, Tp, y_{3n+3}) = G(Sp, Tv, Rx_{3n+3})$$

$$\geq q \max \left\{ G(p, Tp, y_{3n+4}), G(p, p, y_{3n+3}), \right. \\ \left. G(Tp, Tp, p), G(y_{3n+4}, y_{3n+3}, Tp) \right\}.$$

Letting $n \rightarrow \infty$ we get

$$G(p, Tp, p) \geq q \max \{G(p, Tp, p), 0, G(Tp, Tp, p), G(p, p, Tp)\}$$

$$\geq q \max \left\{ G(p, Tp, p), \frac{1}{2} G(p, p, Tp) \right\}, \text{ since } G(p, p, Tp) \leq 2 G(Tp, Tp, p)$$

$$= q G(p, p, Tp).$$

Hence $Tp = p$. Thus $gp = Tp = p$(2)

Since $p = gp \in R(X)$, there exists $w \in X$ such that $p = hw$.

$$G(p, p, Rw) = G(Sp, Tp, Rw)$$

$$\geq q \max \{G(p, p, p), G(p, p, Rw), G(p, p, p), G(p, Rw, p)\}$$

$$= q G(p, p, Rw).$$

Hence $Rw = p$. Thus $hw = Rw = p$.

Since (h, R) is a weakly compatible pair, we have $Rp = hp$.

$$G(p, p, Rp) = G(Sp, Tp, Rp)$$

$$\geq q \max \{G(p, p, Rp), G(p, p, Rp), G(p, p, p), G(Rp, Rp, p)\}$$

$$\geq q \max \left\{ G(p, p, Rp), \frac{1}{2} G(p, p, Rp) \right\}, \text{ since } G(p, p, Rp) \leq 2 G(Rp, Rp, p)$$

$$= q G(p, p, Rp).$$

Hence $Rp = p$. Thus $hp = Rp = p$(3)

From (1), (2) and (3) it follows that p is a common fixed point of S, T, R, f, g and h .

Suppose p' is another common fixed point of S, T, R, f, g and h .

$$G(p, p, p') = G(Sp, Tp, Rp')$$

$$\geq q \max \{G(p, p, p'), G(p, p, p'), G(p, p, p), G(p', p', p)\}$$

$$\geq q \max \left\{ G(p, p, p'), \frac{1}{2} G(p, p, p') \right\}, \text{ since } G(p, p, p') \leq 2 G(p', p', p)$$

$$= q G(p, p, p').$$

Hence $p' = p$.

Thus p is a unique common fixed point of S, T, R, f, g and h .

Similarly, the theorem holds if $g(X)$ or $h(X)$ is a G - complete subspace of X .

Finally, we prove the following in the similar lines.

THEOREM 2.2: Let (X, G) be a complete G - metric space and

$S, T, R, f, g, h : X \rightarrow X$ be mappings such that

$$(2.2.1) \quad G(Sx, Ty, Rz) \geq q \min \left\{ \begin{array}{l} G(fx, gy, hz), G(fx, Sx, Rz), \\ G(gy, Ty, Sx), G(hz, Rz, Ty) \end{array} \right\}$$

or

$$G(Sx, Ty, Rz) \geq q G(fx, gy, hz)$$

for all $x, y, z \in X$ and $q > 1$,

$$(2.2.2) \quad h(X) \subseteq S(X), f(X) \subseteq T(X), g(X) \subseteq R(X),$$

$$(2.2.3) \quad \text{one of } f(X), g(X) \text{ and } h(X) \text{ is a } G\text{- complete subspace of } X,$$

$$(2.2.4) \quad \text{the pairs } (f, S), (g, T) \text{ and } (h, R) \text{ are weakly compatible.}$$

Then (a) one of the pairs $(f, S), (g, T)$ and (h, R) has a coincidence point in X or

(b) S, T, R, f, g and h have a unique common fixed point in X .

The following example illustrates the Theorem 2.2.

Example 2.3 : Let $X = [0, \infty)$ and $G(x, y, z) = |x-y| + |y-z| + |z-x|, \forall x, y, z \in X$.

Let $S, T, R, f, g, h : X \rightarrow X$ be defined by $Sx = \frac{x}{2}, Tx = \frac{x}{4}, Rx = x,$

$$fx = \frac{x}{16}, gx = \frac{x}{32}, hx = \frac{x}{8}.$$

Clearly (2.2.2) – (2.2.4) are satisfied . Also $G(Sx, Ty, Rz) = 8 G(fx, gy, hz)$ for all $x, y, z \in X$.

Clearly “0” is the unique common fixed point of S, T, R, f, g and h .

ACKNOWLEDGEMENT

The authors are thankful to the referee for his valuable suggestions.

REFERENCES

- [1] Chugh R, Tamanna K, Rani A & Rhoades B E, Property in G - metric spaces, Fixed point theory and Applications, Vol.2010, Article ID 401684,12 Pages.

- [2] Dhage, B C, Generalized metric spaces and mappings with fixed point, *Bull. Calcutta Math. Soc.* 84 (1992), No.4, 329.
- [3] Dhage, B C, On generalized metric spaces and topological structure II. *Pure. Appl. Math. Sci.* 40(1994), No.1-2, 37.
- [4] Dhage, B C, A common fixed point principle in D-metric spaces, *Bull. Cal. Math. Soc.*,91,No.6 (1999), 475-480.
- [5] Dhage, B C, Generalized metric spaces and topological structure I, *Annalele Stiintifice ale Universitatii Al.I. Cuza*, Vol.46, No.1 (2000), 3.
- [6] Mustafa, Z & Sims, B, A new approach to generalized metric spaces, *Journal of Nonlinear and Convex Analysis*, Vol.7,No.2,(2006),289.
- [7] Mustafa, Zaed, Obiedat, Hamed & Awawdeh, Fadi., Some fixed point theorem for mapping on complete G-metric spaces, *Fixed point theory and Applications*, Vol.2008,Article ID 189870,12 Pages.
- [8] Mustafa, Zaed., Shatanawi & Wasfi Malik, Bataineh. Existence of fixed point results in G-metric spaces, *Internat. J. Math. Sci*, Vol.2009, Article ID 283028, 10 Pages.
- [9] Mustafa, Zaed & Sims, Brailey, Fixed point theorems for contractive mappings in complete G-metric spaces, *Fixed point theory and Applications*, Vol.2009,Article ID 917175, 10 Pages.
- [10] Naidu, S V R, Rao K P R, & Srinivasa Rao N, On the topology of D-metric spaces and the generation of D-metric spaces, from metric spaces , *Internat. J. Math. Math. Sci*, 2004, No. 51, 2719.
- [11] Naidu S V R, Rao K P R, & Srinivasa R N, On the concepts of balls in a D-metric space, *Internat. J. Math. Math. Sci.*,2005,No.1(2005), 133.
- [12] Naidu S V R, Rao K P R, & Srinivasa R N, On convergent sequences and Fixed point theorems in D-metric spaces, *Internat. J. Math. Math. Sci.*,2005,12(2005), 1969.
- [13] Shatanawi W, Fixed point theory for contractive mappings satisfying ϕ - maps in G-metric spaces, *fixed point theory and Applications*, Vol. 2010, Article ID 181650, 9 Pages.